Name _____________________________________________________
Exam 2/Midterm Exam, Math 1010, Spring 2005

1. Evaluate the function 
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 for the following values.
A. f(-1)

B. f(x+2)

C. f(-x-2)

2. Determine whether the equation represents a function.  
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3. What is the domain of 
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?  State in interval notation.
4. Calculate the value of the difference quotient 
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 for the function 
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5. Find the axis of symmetry of the following quadratic equation, and determine the point on the graph that is the vertex.  
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6. Find the equation of the parabola if the vertex is (-1, 2) and another point on the parabola is (0, 6).  You should use the formula 
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7. Calculate the average rate of change of the function 
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 between the points x= -1 to x= 2 by calculating the slope of the line between the points.  
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8. Determine whether the function 
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 is even, odd or neither.  Prove this algebraically and show your work.

9. Graph the following function on the axes at the top of the next page by plotting points.  Be sure to indicate round circles and solid circles as appropriate on the graph.
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10. Perform the following operations on the functions 
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.  Simplify as much as possible.
A. f – g 

B. fg
C. f/g
D. 
[image: image15.wmf]g

f

o


11. Find the functions f and g so that composing them produces the given function H. 
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 (There may be more than one correct answer. You need only state one possibility.)
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